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Level 1 /Level 2 GCSE
(9-1)

‘Mathematics Revision

Grade 1-3
Homework Paper Reference
kTime: 2 hours 30 minutes Grade 1 -3J
( You must have: Ruler graduated in centimetres and millimetres, Total Marks

protractor, pair of compasses, pen, HB pencil, eraser.

\ Tracing paper may be used. )
\

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your surname and
first name in the correct boxes.

Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.

You must show all your working.

Diagrams are NOT accurately drawn, unless otherwise
indicated.

Calculators may not be used.

Information

® The total mark for this paper is 196
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each
question.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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Q1 Write the following numbers as words:

a 3,492.927

Theee, brouwsand, fowe huwdeed and vw\ebu Ewo
_Pumk Nine buo Sovem .

(1)
b 8,003.91

E:ﬁ.‘kb rowsand and thee goirk nive 00

(1)
C 2,402.1984
T bwo X

O\/\_Vl V\W/ @4-.- G b\/t :}(’bw

J (1)
Q2 Write the following words as numbers:

a Seven thousand andeight, .. 7 joog ........
(1)
b Sixteen thousand, two hundred and four; ‘GIZOH.'
(1)
c Seven million, twelve thousand, one hundred and two. 710’11'02-
(1)

Q3 Write down the factor pairs of these numbers:

30

Ix%20 2x15 3x 10 5x6

b 39
Ix 39 3x 13
(2)
c 24

Ix 24 2x12 3x§ 4x0

(2)
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Q4 Put the following into ascending order:

a

-,

0.21 -1 0.179 -0.61 0.3

061,079, 0-2(,0-3

7

[ 4

2 -9 -3

-2 1
4.-3 -2,7 12

(1)

C

g
4

0.311 3.110 1.301 3.011 1.103

0-311, 1-l03, |-30l, 3-0ll, 3-lI0

(1)

(1)

d -0.311 -3.110 -1.301 -3.011 -1.103
-3-1l0, -3.01), -)-30l,-1-103,-0-3]l
(1)
e 803 8.03 8030 80.30 8300
302 20-30, 803%, %030, 2300
(1)
Q5 Write the value of the following:
a —-12-7= -l‘i
b —23+11= —=|2
c 17-91= =TW
d 23— (-5)= 29
e 17-(-2)= |94
f 23+(-8)= 15
g 15-33= -1|8
h 6—15= =9
i -17+18= |
j —-8+21= |23
(10)

Q6 Write down the value of 17°.

S www.achildsguideto.com
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Q7 The temperature in Kumasi is 35°C. In Calgary on the same day, it is -12°C. What is the
temperature difference between the two cities?

-2 0 35
L l ] LT7°C

412 4 25

Q8 The temperature in Astana is -14°C. In Perth in Australia on the same day, it is 41°C. What is
the temperature difference between the two cities?

-4 (0 L
| | 1

D R — 55’c

+14 + 4 (2)

Q9 The temperature in Tehran is 31°C. In Antarctica on the South Pole, it is 52.5 degrees colder.
What is the temperature at the South Pole?

2.5 -231=21'5
So 3) -525=-215 -21-5°C

Q10 Alineruns from (4,7) to (12,5). What are the co-ordinates of the midpoint of the line?

~: 4H4+12 :_‘{;:8 (g,é>

Z « e
. _ 12 =
Y- 7‘;_5 B == )

Q11 Alineruns from (-6,16) to (12,28). What are the co-ordinates of the midpoint of the line?

€. -é+|2=6;3

Z s <3127~) ........
A
Q12  Alineruns from (-3,9) to (14,22). What are the co-ordinates of the midpoint of the line?
- i
p & .77 -+ “+ = | | - 2 (5 .
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Q13  Simplify the following expressions:

a 4 x5xq= 2‘0%
2 -
b 4 x5ax3a= eoa . HxHx3= 4
a x &= &
c S5a+3b+a—4b= Ga‘b 562_, + & = 6&

d  8Bx-2)= 24x -16 | 3x l -2
8| 24x [ -16
e 4(6x + 4) = 2""1/*'“’ | 6 ) +4
b4 } 24z ( t b
f 2 X3 XdXh= GO\'L"
g 4a x2b x 3¢ = Q.Ll'a,bC/
h S5a+3a’+a+4a®= 7a2+ G A

i 2Bx—-2)+3Mx+4) = LLLTLALE

G-+ 12 + 12
j 5(3x+8)—23Bx—5)= 12C.F !

15¢ —bx = Ax
4o +0 =50

38 www.achildsguideto.com

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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Q14 Look at the function machines below.

Work out the missing quantities.

24— +7 >~ 3\

(1)

b
x — +7 Z41
(1)
20— +7 28
(1)
. 2t
(1)
8 Ix
¢ LT s
i (1)
J < 18 <— -2

G —»@ +2 > 20
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Q15 All the humbers in the answers below are integers. Write down all the possible values of x.

a 3<x<8

c —-4<x<0
d —-3<x<2
e 3<x<8

f —-3<x<4
g -1<x<4
h —-6<x< -2
i 9<x <17
i —6<x< -2

3 www.achildsguideto.com

....................... e W A
(2)
......... 718,0‘,\01\\1\2
(2)
- ol N
(2)
......... —3/'2/-|1O/‘
(2)
............. b
2)
.......... ‘2/_,/0’“2/3
(2)
........ . I,O,(,Z,?;,Lf
(2)
LTI e T T
(2)
\OIH) ..... \7-,'3,“»‘-*\5,‘@ .................
(2)
-5/"('*/-3 .................................................................
(2)



State the inequalities shown by the following number lines.

Qle6
a
2 O

T | |
-6 -5 -4 3 2 -1 8 0 1 2 3
-l X
2)
d
X
® >
| 7 | T T T T 1 T T 1
-6 5 -4 - 2 -1 8 0 1 2 3 4 5 6 7 8 9 10
e W u HE®=S
(2)

A

Page |7
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oO—>0
17 1 1T 1 17 17 17 17 17 17 1° ¢ © ° 1 [ 1]
-6 5 -4 -3 -2 1 8 0 1 2 3 4 5 6 7 8 9 10
.................... Y A N
(2)
g
X
O O
17 17 17 17 117 17T 17117 1T 17 © 17 17 11
6 5 3 2 1 8 0 1 2 3 4 5 6 4 8 9 10
-4<x<Hh
(2)
h
o—=X @
1 1 1 1 17 17 11 1 © ° © 17 17 1 1 71|
-6 5 4 3 2 -1 8 0 1 2 3 4 5 6 r 8 9 10
o K X S O i
(2)
i
X
® P
1 7 ° 17 17 17 17 1 T 1| F 1 1 1 |
-6 5 4 2 1 8 0 1 2 3 4 5 6 T 8 10
T L S
(2)
j
o— X -
1711 1717 17 1 T T©° T°T ©T © 1 1 1 T |
-6 5 4 3 2 -1 8 0 1 2 3 4 5 6 7 8 9 10
.............................. X =
(2)
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Q17  Billy asked his class how many pets they had. The results are shown in the list below.

0 1 3 1 0 0 0 1 2 2
3 2 0 0 2 1 1 5 2 3
1 1 0 0 1 1 0 0 3 2
a Collate this information into the table below.
Number of Pets Tally Frequency
(o) L it 10
| Wl 9
Z uH | 42)
fo) 111 -
8 | i
(3)
b On the grid below, show this information as a bar chart.
lj
) {
N .
<4
B 7 |
W
C
L >
C
v
4
2
v
r

W
K 5
Q)|

0 | 2
Nulmbep 2% Posss

(4)

c Werite down the mode of this data. O
- pekss
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Q18 Joanne asked her school to write down their favourite type of take away. The results are

shown in the list below.

Hamburger Fish & Chips Pizza Fried Chicken | Hot dogs Fish & Chips Hamburger Pizza

Hamburger Fish & Chips Pizza Fried Chicken | Hamburger Fish & Chips Fried Chicken | Fish & Chips

Fish & Chips Fried Chicken | Hamburger Fish & Chips Pizza Pizza Hamburger Pizza

Hot dogs Fried Chicken | Pizza Fish & Chips Fish & Chips Hot dogs Hot dogs Fish & Chips
a Collate this information into the table below.

Food Type Tally Frequency
Fish © Clups | LT JHT 10
Cried Ched |LH 5
Hamburges | (- | &

Hob Aoss 111} H
Piz2a L |l 1
(3)
b On the grid below, show this information as a bar chart.
> |

51
aq
)
g
[T
7
L

| 9]
L

i
2
7

Z
\

Fislh |Phed Handusers Hob (0
Chig Chh(deen, doqs
Tupe | 0\l Foed
(4 U
(4)
o Write down the mode of this data.
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Q19  Aschool offered three different modern foreign languages as options. The children could
only choose one option. The table below shows how many children picked each foreign

language.
Language Frequency
French 58
German 47
Spanish 75

2%
ne’
A
150

Draw this information onto the pie chart below. Show all the calculations you have used to

come up with your pie chart.

Tobad F%'o""‘cjz
Prge por pos =

3R www.achildsguideto.com

Frendh

Crermazv\,

58 +417 4+ 715 = |80°*
360 = 180 = 2°

(3)
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Q20 James did a survey of how people travelled to school. The results are shown in the table

below.
Language Frequency
Walk 35
Bus 21
Car 23
Cycle 11

45
\Ho
g4
2
u+

Draw this information onto the pie chart below. Show all the calculations you have used to
come up with your pie chart.

Tobal Fv‘ecvm,v\cj = 35 3*6'cl>\;+q203:+L:\

Hy\ﬁ\& per persen

X www.achildsguideto.com

=90

(3)
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Q21  Angela, Bill, Charlotte and Dylan are planning a holiday to Cape Town in the Republic of
South Africa.

Each person is taking £1200 spending money.

a The Bay Hotel costs 7,850 Rand per night and it sleeps two people. They need two rooms
for six nights.

The exchange rate is £0.05 : Rand 1.00.

How much does the hotel cost in GB pounds?

7850 X 7 rooms = 15700
22015700 X 6 nights = 94 200

/74
005 : | Al100 =20 = L£HTI0
L

X 20
(3)
b The flight from London Heathrow to Cape Town costs £2248 for each person.
What is the total cost of the total cost of the flight?
2248 x 4 = £38992
(2)
c The rail tickets to London cost £63.09 return for each person. The transfer from Kings Cross

station to London Heathrow costs £26.30 return per person.

How much is the total cost of the rail journey?
(e300 +26-30) = #(82-29) = £357-56

(2)

d What is the total cost of the holiday, including their spending money?

710 - 00 1200 X Y= HBOO
$492-00
3517-56
4300'00

($95956 £18,859-5¢

(3)
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Q22  Abbi, Bernhard, Charlie and Daniel are planning a holiday to Perth in Australia.
Each person is taking £1500 spending money.

The Double Tree costs 225 AUS per night and it sleeps two people. They need two rooms for
eight nights.

The exchange rate is £0.50 : AUS 1.00.
The flight from London Heathrow to Perth costs £1752 for each person.

The rail tickets to London cost £63.09 return for each person. The transfer from Kings Cross
station to London Heathrow costs £26.30 return per person.

What is the total cost of the holiday, including their spending money? You MUST show your
working.

Kol Traxel 4(63-0‘% ¥ 26-3o> = H—(8°|»3°D = £351-56

Fuge  4(1752) =£7008

Hotel 7 w8 x 225 = Auv§ 3600
M o

Exdhorg e Rake  £0O50 : Avd
7

X Z
3600 + 2=E180
Spend  H(150%)-46000
Towd Cost oo = £4,365-56

£14,36556
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Q23  Billy and four friends go on holiday for six days and nights.
They stay in a cheap hotel in their resort which costs £205 per night for all five of them.
They pay a supplement for breakfast and evening meal of £48 each per day.
Their flight costs them £219 each.
They take £850 spend each.

a What is the total cost of their holiday?

205 % b ={1230 (che,\)
g x 6 = £285 (ruesks)
219 x5 = £1095 (Fughr)
g§50 X9 = £425% CS,oeMrD
Te) Cost = 1230 + 288 + 1095 + 4250

= 63673

(4)
Billy has saved up £1650. The friends split the cost of the holiday equally.
b Does Billy have enough money to go on holiday? Show how you know.
13726
5168620 o0 > 137240
-5 A \ \
| &
15
._-———3-—6
- 3 5 ¥
3
“1 0V
30 Mes
% () s
- (3)
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Q24  Joe sets off to the cinema at 5:15pm.

He walks for 12 minutes to the bus stop where he plans to catch the 226 bus to
Leeds.

Joe has to wait at the bus stop for a further 9 minutes before the bus arrives.

The bus travels quite slowly as it is rush hour and it takes him 43 minutes to get to
the bus stop nearest the cinema, where he gets off.

Joe has to walk for 13 minutes to where he has arranged to meet his girlfriend. He
waits for her to arrive for quarter of an hour.

From their meeting point, it is 4 minutes walk into the cinema. Once inside, they
have to queue for ten minutes to purchase tickets. Then it is just three minutes
down the corridor into their cinema where they can watch the film.

The film starts at 6:50pm.

Do they make it in time for the film to start? (You must show all your working out)

\4
) C N K)
% » >\:G( \ ‘))\47 \‘\\0\{\\@;\
\ QJ( U"b o X Ak e
) g AN\ X
?)U\S 5\/00 \/\\'W\\( U\(\Q} (7\\? \S\ We (%; &13) @ \(\@
| | l' | l | -

|
%2  :41 &Gl T-0f T-o4

|
515 \A/\/’\/uu\u

15 4 o 3

l?.
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Q25

Find the value of the unknown amount for each of the following.
a a+8=25
.................... ‘7 (1)

b b—-36=51

b:: 5‘ + 36

c 45 —c =25

—Cc=25-45
= -20 L= 2 o .. 2)
d 3d = 48 30\ L{—S D—
..................... \ 6 (1)
e §= 15 ‘ 6
x4 C) e = 60 2""&
60 ............. (1)

88 www.achildsguideto.com Page |17



Q26  Find the value of the following

a 3x —8=2x+12

% = 20

20
b Tx+4=12x — 11

Boc =19

\
W

c. =T

c 12x —9 =2x+51

lOox. =60

»« = b

G
8x —7 =6x+ 23

2x = 30
15

p.a

\1

)5
6x —34=2x+ 14

b = W48

~ = |2
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Q27  Estimate the following.
V145+543 12 4 500

5.89
@

e (3)
b Searm 5 X Y Ix 2 _
o X 2 2% ,
(3)
c 41.4314 x83.19
15.122
4o x80 _ ox¢fe 2
102 q_oo .................................................
(3)
Q28  Give the answers to the following in index form.
a  3*x35x35= 3"‘" Bllf-
(2)
b 75 x 7% x 778 = 7 =
(2)
12)( 14 2!‘
¢ 884 ><88 = 8 2)
............... G
(2)
d 2= ) ?:*0
\ Z‘I—o
(2)
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